Take Home QBiz Chapter 2

Name B

MULTIPLE Cd Id E. Cdoose thd one alternative thdt best completes thd statement or answers thd questiond

Find thd slope of thd line tangent tangent to thd grapd a thd given point.d

1)y:%%Bx:7B
A) m:—%%

Find thd second derivative.
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Solve thd problemc

)™=y D) m

) %XB D) 23x - 8

3) The number of gallons of water in a swimmbhg pool t mbhutes after the pool has started to drain is
(t) = 50(20 - x)2.How fast is the water running oBt at the end of 15 mButes?

A) 1250 gal/mBr

Find thd second derivative of thd functiond

by -8 8)(x2 + 3x)B
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Find thd derivative.(
5y :-%%3+ 5 sec xB

A) y':—ég+53ecxtanx8
x2B

Yy'=- %%ﬁ 5 tan?xB

Solve thd problemc
6) Fihd the tangenttoy =2 - shh x at x = 7.
A)y=x-2 )y=-x+2

Find thd indicated derivative.
7) Fihdy " if y = 6x shh x.
A)y" =-12cosx +6xsBn:
) y" =12 cos x - 6x sBn:

) 625 gal/mBr1

) 250 gal/mB1 D) 500 gal/mBt
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D) y':—%%B—Scsch

Jy=-x+m-2 D)y=x-m+2

)y" =6cosx-12xsBn:
D) y" =-6xsBn:



Suppose that the functions f and g and their derivatives with respect to x have the following values at the given valuesd
of x. Find the derivative with respect to x of the given combination at the given value of x.d

x[f() 809 £ g (%)
8) 3£ 1 9 6B 3B 8)

3 3B 2B -6B

A/f(x) + g(x), x = 3B

1 9 9 1
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Find the derivative of the function.c
9) hix) —[p-<25x P 9)
1 +sinx -
4 _ 4
A) 5 cos.x B) 5 cos* xB
1 +sinx (1 + sin x)°B
{ 4sinx| cosx 4 sin x |4
1 i D -
)[ cos xB| 1 + sin x ) 5cosx
Find dy/dt.
10) y = t4(tB - 9)B 10)
A) B(B- 9)BRot - 36) B) 3(tB - 9)B9tB - 36)B
) 48(tB - 9)B5tB - 9)B D) 100t18(tB - 9)B
2
Find d—%gfor the given function.d
X
11) y =R/9x + 6B 11)
A) - 1 B) 9 i - 1R/9x + 6B D) - 81
4(9x + 6)3/2B 2R[9x + 6B ' 4B 4(9x + 6)3/2B
Solve the problem..
12) The position of a particle moving along a coordinate line is s= &2 + 2t with s in meters and t inB 12)
seconds. Find the particle's acceleration at t =1 sec.B
1 1
- 2 — 2B ] = 2B - 2B
A) % m/sec B) > m/sec ) SBm/SeC D) %Bm/sec



